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Ê√è¬ı˛œ øÚÀ«√̇  / IMPORTANT INSTRUCTION 

 

’±·√±˜œ  ø˙é¬±¬ı¯∏±«ôL ¬Û¬ı˛œé¬±˚˛ ( T.E. Exam.) ÚÓ≈¬Ú ¬ı…¬ı¶ö± ’Ô±«» õ∂ùü¸ √̋√ Î¬◊M√√¬ı˛ ¬Û≈øô¶fl¡± (QPAB) õ∂¬ıÓ«¬Ú fl¡¬ı̨± √̋√À¬ıº 
¤ ◊̋√√ ÚÓ≈¬Ú ¬ı…¬ı¶ö±¬ı˛ ¸±ÀÔ ¬Û¬ı˛œé¬±ÔπÀ√¬ı˛ ’ˆ¬…ô¶ fl¡¬ı̨±¬ı˛ Ê√Ú… ¬ıÓ«¬˜±Ú ’Ú≈˙œ˘Ú ¬ÛÀS õ∂øÓ¬øÈ¬ õ∂Àùü¬ı˛ øÚÀ«√̇  ’Ú≈˚±˚˛œ øÚø«√©Ü 
¶ö±ÀÚ ◊̋√√ Î¬◊M√√¬ı ̨ø√ÀÓ¬ √̋√À¬ıº 

New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the         

coming Term End Examination. To get the candidates acquainted with the new system, 

now assignment answer is to be given in the specific space according to the instructions. 

Detail schedule for submission of assignment for the 
BDP term End Examination December-2019 & June 2020 

1. Date of Publication : 14/02/2020 

2. Last date of Submission of answer script by the student to the study 
centre 

 
: 07/03/2020 

3. Last date of Submission of marks by the examiner to the study centre : 08/04/2020 

4. Date of evaluated answer scripts distribution by the study centre to 
the students (Students are advised to check their assignment marks 
on the evaluated answer scripts and marks lists in the study centre 
notice board. If there is any mismatch / any other problems of marks 
obtained and marks in the list, the students should report to their 
study centre Co-ordinator on spot for correction. The study centre is 
advised to send the corrected marks, if any, to the COE office within 
five days. No change / correction of assignment marks will be 
accepted after the said five days. 

 
 
 
 
 
 
 
 
: 18/04/2020 

5. Last date of submission of marks by the study centre to the 
Department of C.O.E. on or before 

 
: 20/04/2020 

 
 
 
 
 
 
 
 

¤‡±ÀÚ øfl¡Â≈√ ø˘‡À¬ıÚ Ú± 
 Do Not Write Anything Here  
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ø¬ıˆ¬±· - fl¡ 
Group-A 

 Œ˚-Œfl¡±ÀÚ± ≈øÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 

 Answer any two questions : 
1. (a) 

  

! 

N
2

O
5
(g)-¤¬ı˛ õ∂Ô˜Sê˜ ·…±¸œ˚˛ ø¬ıˆ¬±Ê√ÀÚ¬ı˛ ’Ò«Ê√œ¬ıÚ 40˚C Ó¬±¬Û˜±S±˚˛ 45 ø˜øÚÈ¬ ¤¬ı— 60˚C 

Ó¬±¬Û˜±S±˚˛ 6·5 ø˜øÚÈ¬º Î¬◊ˆ¬˚˛Àé¬ÀS fl¡•Û±Ç &Ìfl¡ [A] ¤¬ı˛ ˜±Ú ¸˜±Ú ÒÀ¬ı˛ øÚÀ˚˛ fl¡•Û±Ç &Ìfl¡ ¤¬ı— 
¸øSê˚˛fl¡¬ı˛Ì ˙øMê√¬ı˛ [Ea] ˜±Ú øÚÒ«±¬ıĮ̀ fl¡èÚº 

  For the 1st order gas phase decomposition of 
  

! 

N
2

O
5
, the half life periods at 

40˚C and 60˚C are respectively 45 min and 6·5 min. Assuming that 
frequency factor(s) is same in both cases, calculate the value of A and Ea 
(activation energy ). 

 (b) 200˚C Ó¬±¬Û˜±S±˚˛ ¤fl¡øÈ¬ ·…±¸œ˚˛ Œ˚Ã· 
    

! 

AB
3
-¬ı˛ ˆ¬±„√√Ú ¸•Ûøfl«¡Ó¬ Ó¬Ô… øÚ•ß¬ı˛+¬Ûº 

   
    

! 

AB
2
" # "  

1

2
A

2
 + 

3

2
B

2
 

    

! 

P [õ∂±Ôø˜fl¡]  

! 

(mm Hg )  300 500 600 

  
    

! 

t
1/ 2 ( hr )  11 6·6 5·5 

  ø¬ıøSê˚˛±øÈ¬¬ı˛ Sê˜ ¤¬ı— ˝√√±¬ı˛ ÒËn∏¬ıÀfl¡¬ı˛ ˜±Ú øÚÌ«˚˛ fl¡èÚº 5 + 5 

  The following data were obtained for decomposition of the gaseous 
compound 

    

! 

AB
3
 into its elements, at 200˚C 

   
    

! 

AB
2
" # "  

1

2
A

2
 + 

3

2
B

2
 

  
    

! 

Pinitial (mm Hg ) 300 500 600 

  
    

! 

t
1/ 2 ( hr )  11 6·6 5·5 

  Find out the order of the reaction and the rate constant. 

2. (a) øÚ•ßø˘ø‡Ó¬ ¸—:±&ø˘ ø√Ú – 
  Define the following terms : 
  (i) ¬Ûø¬ı˛¬ı±ø˝√√Ó¬± 
   conductance 

  (ii) ’±À¬Ûøé¬fl¡ ¬Ûø¬ı˛¬ı±ø˝√√Ó¬± 
   specific conductance 

  (iii) ¬ı√√̋ √√Ú±Ç (  

! 

t ±) 

   transport number (  

! 

t ±) 

  (iv) Ó≈¬˘…±Ç ¬Ûø¬ı˛¬ı±ø˝√√Ó¬± 
   equivalent conductance 

  (v) ’±˚˛Úœ˚˛ ¸‰¬˘Ó¬± º 
   ionic mobility 
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 (b) Ó¬œ¬ıË Ó¬øÎ¬ˇ»ø¬ıÀù≠¯∏… ¬Û√±ÀÔ«¬ı˛ Ó≈¬˘…±Ç ¬Ûø¬ı˛¬ı±ø˝√√Ó¬± ˘‚≈Ó¬±¬ı˛ ¸±ÀÔ øfl¡¬ı˛+¬Ûˆ¬±À¬ı ¬Ûø¬ı˛¬ıøÓ«¬Ó¬ ˝√√̊ ˛, Ó¬± ¤fl¡øÈ¬ 
¬Ûø¬ı˛fl¡äÚ±˜±øÙ¬fl¡ Œ˘‡ø‰¬ÀS¬ı˛ ˜±Ò…À˜ õ∂fl¡±˙ fl¡èÚº ¤¬ı— ¬ı…±‡…± fl¡èÚº 5 + 5 

  With the help of a schematic diagram, show the variation of equivalent 
conductance of strong electrolyte with dilution. Give explanation. 

3. (a) 25˚C Î¬◊¯ûÓ¬±˚˛ AgCl-¤¬ı˛ ¸•Û‘Mê√ ^¬ıÀÌ¬ı˛ ’±À¬Ûøé¬fl¡ ¬Ûø¬ı˛¬ı±ø˝√√Ó¬± 1·55 × 10  

! 

"6
 ohm  

! 

"1
cm  

! 

"1
 

¤¬ı— Ag

! 

+
 › Cl

! 

"
 ’±˚˛ÀÚ¬ı˛ ¬Ûø¬ı˛¬ı±ø˝√√Ó¬± ˚Ô±SêÀ˜ 61·92 ohm  

! 

"1
cm  

! 

2
gm-equiv  

! 

"1
 ¤¬ı— 76·34 

ohm  

! 

"1
cm  

! 

2
 gm-equiv  

! 

"1º 25˚C Î¬◊¯ûÓ¬±˚˛ ¢∂±˜-Œ˜±˘ õ∂øÓ¬ ø˘È¬±¬ı˛ ¤fl¡Àfl¡ AgCl-¤¬ı˛ ^±¬ı…Ó¬± øÚÌ«˚˛ 
fl¡èÚº ¤‡±ÀÚ Ê√À˘¬ı˛ ¬Ûø¬ı˛¬ı±ø˝√√Ó¬± ’¢∂±˝√√… fl¡¬ı˛± ˝√√̊ ˛º 

  At 25˚C the specific conductance of a saturated solution of AgCl is                 

1·55 × 10  

! 

"6
 ohm  

! 

"1
cm  

! 

"1
 and the ionic  conductance of Ag

! 

+
 and Cl

! 

"
 ion are 

61·92 ohm  

! 

"1
cm  

! 

2
 gm-equiv  

! 

"1
 and 76·34 ohm  

! 

"1
cm  

! 

2
 gm-equiv  

! 

"1
. Ignoring 

the conductance of water, calculate the solubility of AgCl in mole per liter. 
 (b) ˜‘≈√ ’…±ø¸Î¬ ¬ıÚ±˜ Ó¬œ¬ıË é¬±À¬ı˛¬ı˛ ¬Ûø¬ı˛¬ı±ø˝√√Ó¬±-’Ú≈˜±¬ÛÚ [conductometric titration] Œ˘‡øÈ¬ ’—fl¡Ú 

fl¡èÚ ¤¬ı— ¬ı…±‡…± fl¡èÚº 6 + 4 

  Draw and explain the conductometric titration curve of weak acid by strong 
base.  

4. (a) 
  

! 

Zn + 2AgCl = ZnCl2  + 2Ag  ¤˝◊√√ Œfl¡±¯∏ ø¬ıøSê˚˛±˚˛ ’Ò«Àfl¡±¯∏ ø¬ıøSê˚˛± ≈√øÈ¬ ø˘‡≈Úº Œfl¡±¯∏øÈ¬ ·Í¬Ú fl¡èÚ 

¤¬ı— 
    

! 

E
cell

°  øÚÌ«̊ ˛ fl¡èÚ ›   

! 

"G
°
 øÚÌ«˚̨ fl¡èÚº  

  [ Œ√›˚˛± ’±ÀÂ√ 
      

! 

E
Zn

++
/Zn

°    

! 

= "0 #776  V, 

    
      

! 

E
Cl
"
,AgCl/Ag

°
= "0 # 222 V ]  

  For the cell having the following cell reaction 
  

! 

Zn + 2AgCl = ZnCl2  + 2Ag , write 

the two half cell reactions and set up the cell. Find out 
    

! 

E
cell

°
 and   

! 

"G
°
. 

  ( Given 
      

! 

E
Zn

++
/Zn

°    

! 

= "0 #776  V, 

   
      

! 

E
Cl
"
,AgCl/Ag

°
= "0 # 222 V ] 

 (b) ¤fl¡˝◊√√ ˆ¬À¬ı˛¬ı˛ 20,000 › 40,000 ’±Ìø¬ıfl¡ ›Ê√Ú ø¬ıø˙©Ü ¬Ûø˘˜±¬ı˛ ’Ì≈¬ı˛ ø˜|ÀÌ Î¬◊»¬Ûiß ¬Ûø˘˜±À¬ı˛¬ı˛       
¸—‡…±-·Î¬ˇ ’±Ìø¬ıfl¡ &èQ, 

  

! 

M
n

› ›Ê√Ú ·Î¬ˇ ’±Ìø¬ıfl¡ &èQ,   

! 

M w  øÚÌ«̊ ˛ fl¡èÚº 6 + 4 

  Equal masses of small polymer molecules of molecular weights 20,000 and 
40,000 are mixed. Find the number average molar mass, 

  

! 

M
n

 and mass 

average molar mass   

! 

M w  of the polymer. 
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õ∂Ô˜ Î¬◊M√√¬ı˛  / First Answer : 
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ø¡ZÓ¬œ˚˛ Î¬◊M√√¬ı˛  / Second Answer : 
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ø¬ıˆ¬±· - ‡¡ 
Group-B 

 Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 
 Answer any three questions : 
5. Ó¬¬ı˛˘ ¸—À˚±· ø¬ıˆ¬¬ı˜≈Mê√ ¶ö±Ú±ôLfl¡¬ı˛Ì Â√±Î¬ˇ± ¤fl¡øÈ¬ Ó¬øÎ¬ˇ» ø¬ıÀù≠¯∏… ·±Ï¬ˇQ Œfl¡± ∏̄ õ∂fl¡±˙ fl¡èÚº ‹ Œfl¡±À¯∏¬ı˛ ¸•Û”Ì« 

Œfl¡±¯∏ ø¬ıøSê˚˛± øÚÌ«˚˛ fl¡èÚ ¤¬ı— Ó¬øÎ¬ˇ2‰¬±˘fl¡ ¬ıÀ˘¬ı˛ ˜±Ú õ∂fl¡±˙ fl¡èÚº  2 + 2 + 2 
 Give the cell diagram of a suitable electrolyte concentration cell with transference. 

Find its net cell reaction and hence the expression of cell e.m.f. 
6. õ∂øÓ¬õ∂ˆ¬± › ’Ú≈õ∂ˆ¬±¬ı˛ ¸—:± ø√Úº õ∂øÓ¬øÈ¬ ‚È¬Ú±¬ı˛ ø¬ıÀ˙¯∏ ∆¬ıø˙©Ü…&ø˘ Î¬◊À~‡ fl¡èÚº 2 + 4 
 Define fluorescence and phosphorescence. Mention characteristic features of each 

of them. 
7. (a) øÚ•ßø˘ø‡Ó¬ ’Ú≈˜±¬ÛÀÚ ¬Ûø¬ı˛fl¡äÚ±˜±øÙ¬fl¡ ø¬ıˆ¬¬ı˜”˘fl¡ ’Ú≈˜±¬ÛÚ Œ˘‡ø‰¬S ø√Ú › ¬ı…±‡…± fl¡èÚº Œ˜±¬ı˛ ˘¬ıÀÌ¬ı˛ 

’±ø•°fl¡ ^¬ıÌ ¬ıÚ±˜  
  

! 

K
2

Cr
2

O
7

 ^¬ıÌº 
  Give the schematic potentiometric titration curve for the following  titration : 
  Acidic Mohr's salt solution versus 

  

! 

K
2

Cr
2

O
7

 solution. 
 (b) ’øÓ¬ø¬ıˆ¬¬ı øfl¡ ∑ ’øÓ¬ø¬ıˆ¬¬ı øfl¡ øfl¡ ø¬ı¯∏À˚˛¬ı˛ ›¬Û¬ı˛ øÚˆ«¬¬ı˛ fl¡À¬ı˛ ∑ ( 1 + 2 ) + ( 1 + 2 ) 
  What is 'overvoltage' ? State the factors on which it depends. 
8. ¬ı‘˝√√√±Ì≈¬ı˛ ’±Ìø¬ıfl¡ ˆ¬¬ı˛ øÚÌ«À˚˛¬ı˛ øÚ•ßø˘ø‡Ó¬ ¬ÛXøÓ¬ ≈√øÈ¬¬ı˛ ¸—øé¬5 ’±À˘±‰¬Ú± fl¡èÚ – 
 Briefly outline how one can measure the molar mass (M) of macromolecules by 
 (a) ¸±fÓ¬± ¬ÛXøÓ¬ ¤¬ı— 
  Viscosity method 
 (b) ’øˆ¬¸±¬ı˛fl¡ ‰¬±¬Û ¬ÛXøÓ¬º 3 + 3 
   Osmotic pressure method. 
9. 

  

! 

N
2

O
5
(g) ¤¬ı˛ õ∂Ô˜Sê˜ ·…±¸œ˚˛ ø¬ıˆ¬±Ê√ÀÚ¬ı˛ ’Ò±«˚˛≈ øÚ•ßø˘ø‡Ó¬ ˆ¬±À¬ı õ∂fl¡±˙ fl¡¬ı˛± ˚±˚˛ – 

 
    

! 

ln   t1/2 = "30 # 3  +  
12581 #78

T
 

 [T Œfl¡ õ∂fl¡±˙ fl¡¬ı˛±  ˝√√À˚˛ÀÂ√  second -¤ ] 
 The half-life period of a first order decomposition of 

  

! 

N
2

O
5
(g) is expressed as in 

    

! 

ln   t1/2 = "30 # 3  +  
12581 #78

T
 when time is expressed in second. 

 øÚÌ«˚̨ fl¡èÚ – 
  Find out 
 (a) fl¡•Û±Ç &Ìfl¡  [ A ] 
  frequency factor, A 
 (b) ¸øSê˚˛fl¡¬ı˛Ì ˙øMê√ 
  energy of activation 
 (c) 27˚C Ó¬±¬Û˜±S±˚˛ 1 ‚KI◊±˚˛ ø¬ıøSê˚˛Àfl¡¬ı˛ ˚Ó¬ ’—˙ ø¬ıøSê˚˛±˚˛ ’—˙ ¢∂˝√√Ì fl¡À¬ı˛º 2 + 2 + 2 
  fraction of reactant undergoing the reaction at 27˚C in 1 hour. 
10. (a) øÊ√È¬± ø¬ıˆ¬À¬ı¬ı˛ ¸—:± ø√Úº Œfl¡±˘À˚˛ÀÎ¬¬ı˛ ¸≈ø¶öøÓ¬¬ı˛ Ê√Ú… ¤¬ı˛ ˆ”¬ø˜fl¡± ¬ıÌ«Ú± fl¡èÚº 
  Define zeta potential. Describe its function in the stability of colloid.  
 (b) ¶§Ì« ¸—‡…±¬ı˛ ¸—:± ø√Ú › Ó¬±¬ı˛ Ó¬±»¬Û˚« ¬ı…±‡…± fl¡èÚº ( 2 + 2 ) + 2 
  Define Gold number and state its significance. 
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õ∂Ô˜ Î¬◊M√√¬ı˛ / First Answer : 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 QP Code : 20UA113ECH9  B.Sc.-AU-16121  

  

13/20 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
QP Code : 20UA113ECH9  B.Sc.-AU-16121  

   

14/20 

ø¡ZÓ¬œ˚˛ Î¬◊M√√¬ı˛ / Second Answer : 
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Ó‘¬Ó¬œ˚˛ Î¬◊M√√¬ı ̨/ Third Answer : 
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ø¬ıˆ¬±· - ·¡ 
Group - C 

 Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12 
 Answer any four questions : 
11. ¸—‚¯∏« Ó¬ÀN¬ı˛ ˜”˘ ø¬ı¯∏˚˛&ø˘ Î¬◊À~‡ fl¡èÚº ¸—‚¯∏« Ó¬N ’Ú≈˚±˚̨œ ·…±¸œ˚˛ ’¬ı¶ö±˚˛ ¬ı˛±¸±˚˛øÚfl¡ ø¬ıøSê˚±̨¬ı˛ ˝√√±¬ı˛ ÒËn∏¬ıfl¡Àfl¡ 

øfl¡ˆ¬±À¬ı õ∂fl¡±˙ fl¡¬ı˛± ˝√√̊ ˛ ¬ıÌ«Ú± fl¡èÚº 3 
 Describe the basic points of collision theory. Describe how the rate constant of 

gaseous reaction can be expressed according to this theory. 
12. ¤fl¡øÈ¬ ø¬ıøfl¡¬ı˛ÀÌ¬ı˛ Ó¬¬ı˛e Õ√‚«… 2000 Å º øÚ•ßø˘ø‡Ó¬ ¬Û√&ø˘¬ı˛ ˜±Ú øÚÌ«˚˛ fl¡èÚº 
 Wave length of a radiation is 2000 Å. Calculate the value of the following items. 
 (i) Ó¬¬ı˛e ¸—‡…± 
   wave number 
 (ii) fl¡•Û±Ç 
   frequency 
 (iii) õ∂øÓ¬ Œfl¡±˚˛±KI◊±À˜¬ı˛ ˙øMê√º 1 + 1 + 1 
   energy of each quantum. 
13. ¶§˚˛—øSê˚˛ ’Ì≈‚È¬Ú øfl¡ ∑ ¤fl¡øÈ¬ Î¬◊√±˝√√¬ı˛ÀÌ¬ı˛ ¸±˝√√±À˚… ¬ı…±‡…± fl¡èÚº 1 + 2 
 What is auto catalysis ? Explain with an example. 
14. fl≈¡˝◊√√Ú˝√√±˝◊√√ÀE±Ú ’Ò«Àfl¡±¯∏ ¬ı…¬ı˝√√±¬ı˛ fl¡À¬ı˛ øfl¡ˆ¬±À¬ı Œfl¡±ÀÚ± ^¬ıÀÌ¬ı˛ pH  ˜±¬Û± ˚±˚˛ ¬ıÌ«Ú± fl¡èÚº  3 
 How is pH of a solution measured using Quinhydrone half cell ? 
15. ¸—øé¬5 È¬œfl¡± ø˘‡≈Ú – 3 
 Write short notes on : 
 (i) ˝◊√√À˘fl¡À¬∏C±ÀÙ¬±À¬ı˛ø¸¸ 
   Electrophoresis 
 (ii) ˝◊√√À˘fl¡À¬∏C±’¸À˜±ø¸¸º 
   Electroosmosis. 

16. 25˚C Î¬◊¯ûÓ¬±˚˛ Ê√À˘¬ı˛ ’±À¬Ûøé¬fl¡ ¬Ûø¬ı˛¬ı±ø˝√√Ó¬± 0·554 × 10  

! 

"7
 mho º  Ê√À˘¬ı˛ ’±˚˛Úœ˚˛ &ÌÙ¬˘ ·ÌÚ± fl¡èÚº  

 [ Œ√›˚˛± ’±ÀÂ√ 
  

! 

"
H

+
°

= 349 #8  mho cm  

! 

2
-eqiv  

! 

"1
  ¤¬ı— 

    

! 

"
OH

+
°

= 197 # 8  mho cm  

! 

2
-eqiv  

! 

"1]

 3 

 At 25˚C the specific conductance of water is 0·554 × 10  

! 

"7
 mho. Determine the 

ionic product of water.  

 [ Given : 
  

! 

"
H

+
°

= 349 #8  mho cm  

! 

2
-eqiv  

! 

"1
 
    

! 

"
OH

+
°

= 197 # 8  mho cm  

! 

2
-eqiv  

! 

"1
 ] 

17. ¤fl¡øÈ¬ ¬ı˛±¸±˚˛øÚfl¡ ø¬ıøSê˚˛±¬ı˛ Œé¬ÀS 'log
    

! 

t1/ 2
' ¬ıÚ±˜  'log a' Œ˘‡øÈ¬SøÈ¬ ¤fl¡øÈ¬ Ÿ¬Ì±Rfl¡ ÚøÓ¬ › ŒÂ√√ ˚≈Mê√ ¤fl¡øÈ¬ 

¸¬ı˛˘À¬ı˛‡± Œ˚øÈ¬ 'log a' ’Àé¬¬ı˛ ¸Àe 45˚ Œfl¡±Ú ¶ö±¬ÛÚ fl¡À¬ı˛ÀÂ√ º ø¬ıøSê˚˛±øÈ¬¬ı˛ Sê˜ øÚÒ±«¬ı˛Ì fl¡èÚº  3 
 For a reaction the plot of 'log

    

! 

t1/ 2
'  versus 'log a' turns out to be a straight line 

with negative slope and intercept, which makes on angle of 45˚ with the 'log a' 
axis. (Terms have their usual significance). What is the order of the reaction ? 

18. Ú√œ › ¸˜≈À^¬ı˛ ø˜˘Ú¶öÀ˘ ¬Ûø˘ Ê√̃ ± ˝√√›˚˛±¬ı˛ õ∂Ò±Ú fl¡±¬ı˛Ì&ø˘ øfl¡ ∑ 3 
 Why is silt deposited at the junction of the river and sea ? 

õ∂Ô˜ Î¬◊M√√¬ı˛  / First Answer : 



 QP Code : 20UA113ECH9  B.Sc.-AU-16121  

  

19/20 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ø¡ZÓ¬œ˚˛ Î¬◊M√√¬ı˛  / Second Answer : 
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Ó‘¬Ó¬œ˚˛ Î¬◊M√√¬ı ̨ / Third Answer : 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

‰¬Ó≈¬Ô« Î¬◊M√√¬ı˛  / Fourth Answer : 
 

 
 
 
 
 
 
 
 

 
 


